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QUESTION 1

What does the integrity of information mean? 

A. It means that the access to the information is limited. 

B. It means that the information can be accessed by those users who are allowed to access it. 

C. It means that the information is accurate. 

D. It means that the information is protected. 

Correct Answer: C 

 

QUESTION 2

Capacity management is a process to ensure IT infrastructure is used efficiently and that it is provided at the right time
and price in the needed volumes. 

Which ISO/IEC 20000 process group does Capacity management belong to? 

A. Control processes 

B. Resolution processes 

C. Relationship processes 

D. Service delivery processes 

Correct Answer: D 

 

QUESTION 3

Restricting access to systems/applications based on time is part of which Triple-A security cornerstone? 

A. Accounting 

B. Application 

C. Authentication 

D. Authorization 

Correct Answer: D 

 

QUESTION 4

What is a major benefit of using applications on mobile devices? 
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A. Mobile devices are cheaper than personal computers. 

B. Mobile devices provide location independence. 

C. Mobile devices uniquely identify the user approaching the application 

D. Mobile devises are more secure than personal computers. 

Correct Answer: B 

 

QUESTION 5

What may be a primary driver for a start-up company to move into the Cloud? 

A. Lower operational support costs 

B. Lower operational expenditures (Opex) 

C. Much longer use of Cloud solutions 

D. Much shorter implementation time of the infrastructure 

Correct Answer: D 
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